
Math 4a. Classwork 21. 

Algebra. 

1. Rewrite the following expressions without parenthesis: 
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(5.6 − 7.2) − (−7.2 + 3.4) = 
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45 − (−7 + 18) − (34 − 18 + 26) = 

−9.7 + (−3.8 + 5.2) − (2.9 − 5.2 − 9.7) + 3.8 

−(𝑎 − 𝑏) 

−(𝑐 + 𝑑) 

−(−𝑥 + 𝑦) 

𝑑 − (−𝑘 + 𝑡) 

−𝑚 + (𝑎 − 𝑐) 

𝑝 − (−𝑛 + 𝑟 − 𝑠) 

𝑐 − (𝑏 + 𝑐 − 𝑎) + (−𝑎 + 𝑏) 

(𝑑 − 𝑚) − 𝑏 − (−𝑚 + 𝑥 + 𝑑) + 𝑥 

𝑘 − (𝑦 − 𝑐) + (𝑑 − 𝑐 − 𝑦) + (−𝑘 + 𝑑) 

 

Geometry. 

Special segments of a triangle.  

From each vertices of a tringle to the opposite side 3 special segment can be 

constructed.  



 

 

 

An altitude of a triangle is a straight line through a 
vertex and perpendicular to (i.e. forming a right angle 
with) the opposite side. This opposite side is called 
the base of the altitude, and the point where the 
altitude intersects the base (or its extension) is called the foot of the altitude.  

An angle bisector of a triangle is a straight line through a vertex 
which cuts the corresponding angle in half.  

A median of a triangle is a straight line through 
a vertex and the midpoint of the opposite side, 
and divides the triangle into two equal areas.  

 

 

 

For an obtuse triangle, for one out of the three 

heights, it is not so obvious.  

𝑆∆𝑋𝐵𝐶 =
1

2
ℎ × 𝑥,          𝑆∆𝑋𝐵𝐴 =

1

2
ℎ × 𝑦    

𝑆∆𝐴𝐵𝐶 = 𝑆∆𝑋𝐵𝐶 − 𝑆∆𝑋𝐵𝐴 =
1

2
ℎ × 𝑥 −

1

2
ℎ × 𝑦

=
1

2
ℎ × (𝑥 − 𝑦) =

1

2
ℎ × 𝑎          


